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Part Ⅰ Listening Comprehension (20 minutes)
SECTION A
Directions:In this section, you will hear 10 short conversations. At the　end of each conversation, a question will be asked about what was said. Both the conversation and the question will be spoken only once. After each question there will be a pause. During the pause, you must read the four choices marked A),B), C) and D), and decide which is the best answer. Then mark the corresponding　letter on the Answer Sheet with a single line through the centre.
Example:You will hear:
A) 2 hours. B) 3 hours.C) 4 hours. D) 5 hours.From the conversation we know that the two are talking about some work they will　start at 9 o’clock in the morning and have to finish at 2 in the afternoon. Therefore, D) “5 hours” is the correct answer. You should choose [D] on the Answer Sheet and mark it with a single line through the centre.
Sample Answer [A] [B] [C] [D]〖KG-1*2〗—
1.A) At the customs. B) At the air　port.
C) At the supermarket.D) At the post office.
2.A) He doesn’t have the fight tools. B) He can’ t afford it.
C) He wants to wait until the next day.D) He doesn’ t need one
3.A) All the passengers were killed.B) The plane crashed in the night.
C) No more survivors have been found.D) It’s too late to search for survivors.
4.A) After three P.M.
B) From one to three this afternoon.
C) From one to three every afternoon.
D) The whole afternoon.
5.A) A head cold. B) The weather.
C) The woman’ s son. D) Fatigue.
6.A) Its results were just as expected.
B) It wasn’t very well designed.
C) It fully reflected the students’ ability.
D) Its results fell short of her expectations.
7.A) Having some drinks.
B) Looking up the phone number later.
C) Leaving the problem alone.
D) Making an extra effort.
8.A) About 80. B) More than 80.
C) Half of the student body. D) About 40.
9.A) He believes dancing is enjoyable.B) He definitely does not like dancing.
C) He admires those who dance.D) He won’t dance until he has done his work
10.A) Turn right.B) Turn left.
C) Drive two blocks to the next stoplight. D) Make a U- turn at　the second stoplight.
SECTION B
Directions: In this section, you will hear 3 short passages. At the end of each　passage, you will hear some questions. Both the passage and the questions will be spoken only once. After you hear a question, you must choose the best answer from the four choices marked A), B), C) and D). Then mark the corresponding letter on the Answer Sheet with a single line through the centre.
Passage 1
Questions 11 to 13 are based on the passage you have just heard.
11.A) Experience in negotiating.
B) A high level of intelligence.
C) The time they spend on preparation.
D) The amount of pay they receive.
12.A) Study the case carefully beforehand.
B) Stick to a set target.
C) Appear friendly to the other party. 
D) Try to be flexible about　their terms.
13.A) Make sure there is no misunderstanding.
B) Try to persuade by giving various reasons.
C) Repeat the same reasons.
D) Listen carefully and patiently to the other party.
Passage 2
Questions 14 to 16 are based on the passage you have just heard.
14.A) Efficient computerization will speed solar energy.
B) Clothing, housing and animal breeding.
C) Agriculture and drugs.
D) Child rearing and artificial hearts.
15.A) Broad codes to maximize human benefits.
B) Strict supervision of all scientific research.
C) The indifference of public attitudes toward ethical and human values.
D) The maintenance of chemistry as a pure science.
16.A) Availability of artificial body organs.
B) Elimination of genetic defects.
C) Improvements in drugs for medical use.
D) An explanation of the origin of life.
Passage 3
Questions 17 to 20 are based on the passage you have just heard.
17.A) He buys cheap things, regardless of quality.
B) He chooses things that others recommend.
C) He does not mind much about the price of the right things.
D) He buys good quality things, so long as they are not too dear.
18.A) They welcome suggestions from anyone.
B) Women rarely consider buying cheap clothes.
C) Her shopping is often based on need.
D) They listen to advice but never take it.
19.A) He buys a similar thing of the color he wants.
B) He usually does not buy anything.
C) At least two of his requirements must be met before he buys.
D) So long as the style is right, he buys the thing.
20.A) The fact that men do not try clothes on in a shop.
B) Women bargain for their clothes, but men sit down.
C) Women stand up shopping, but men sit down.
D) The time they take over buying clothes.
Part ⅡReading Comprehension (35 minutes)
Directions:There are 4 passages in this part. Each passage is followed by some　questions or unfinished statements. For each of them there are four choices marked A), B), C) and D). You should decide on the best choice and mark the corresponding letter on the Answer Sheet with a single line through the centre.
